

$$68 + (35 + 18) \cdot 9 + 251 =$$

$$68 + 35 + 18 \cdot 9 + 251 =$$

$$(68 + 35) + 18 \cdot (9 + 251) =$$

$$976 + 450 : 5 + 9 \cdot 30 =$$

$$252 : 3 + 87 : 3 + 412 =$$

$$810 : (3 + 87) \cdot 9 + 25 =$$

$$86 - (8 \cdot 3) + (6 \cdot 5) - 17 =$$

$$27 + 48 : (24 - 12) \cdot 3 + 67 =$$

$$(27 : 3 - 6) \cdot 40 \cdot 30 - 2900 =$$

$$90 : (5 \cdot 6) + 33 - 6 : 3 =$$

$$450 : (12 - 3) + 250 : 10 =$$

$$900 - 600 : (54 : 9) \cdot 3 =$$

$$3 \cdot 80 : 6 + 750 - 90 =$$

$$(360 : 60) + 240 - (24 - 11) =$$